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def fact(n): fact(5)=>5*fact(4)

if n==0- 5*4*fact(3) —
return 1 5*4*3*fact(2)=
else: 5*4*3*2*fact(1)=
return n*fact(n-1) 5*4*3*2*1*fact(0)=
5% 4*3*2%]*]

=120
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def J(n):
J1=1

J2=2

for 1 in range(2,n):
temp=j1+32
J1=32
J2=temp

return j2




ief J(n):
if n<=2:

return n
else:
return J(n-2)+J(n-1)
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First_state
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Validate




def first_;tate{n}:
return [0 for 1 in range(n)]




def nexp_state[current_state]:
for 1 in range(len(current state)-1,-1,-1):
if r:urrent_state [1i]==0:

current state[i]l=1
return current state
else:

current_state[i]=0
return None




def validate (current state):
count=0
even=0
val=Trues
for 1 in range (len(current state)):
1if current state[i]==0:
count=count+l
if count % 2==1:
val=False
else:
i=0
while i<len(current state)-1:
1f current state[i]==0 and current state[i+1l]==0:
even=even+l
i=i+l
i=i+l
if even*2'!'=count:
val=False
return val




state=first state(6)
while state!=None:
1T validate(state) :
print (state)
state=next state(state)
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